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Example 1. Solve the following system by using the Gauss-Jordan elimination method.

z+y+z=5
2¢ +3y+52=28
4z +52=2

Solution: The augmented matrix of the system is the following.

11 1(5
2 3 58
4 0 5|2

We will now perform row operations until we obtain a matrix in reduced row echelon form.
1 1 1[5 111
9 3 5|8 | B2, 10 1 3|2
4 0 5|2 |4 0 5| 2

1 1 1 5
Bl | g 1 3| -2

11 1 5
RetdRs, | g 1 3| =2
L0 0 13|26
11 1] 5
Rl g 1 3|2
00 1|-2
11 1] 5
B3R, | g 1 0| 4
00 1|-2
r11 0| 717
BB 1 g1 0] 4
(00 1]-2]
1 0 0| 37
Bi-Rz | g1 0| 4
| 0 0 1]-2 ]

From this final matrix, we can read the solution of the system. It is

z=3, y=4, 2z=-2|




